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AdetRaw (ppb) 1D pull distribution
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asym_hcm_target (ppb) 1D pull distribution

_ Y2 7 ndi 0.1363/3 |
| Mean -0.004983 + 0.09227
300 — p0 26.88 + 104.1 C
N 2 B I Std Dev 0.1845 + 0.06524
200 __ 1.8 '_ Underflow 0
: : Overflow 0
— 1.6
100 — o X2 I ndf 3.126e-13/0
: * N
— ] 1.4F Constant 2.998 + 0.023
o— ) L
- Py - Mean  555le-17+ 1.444e+00
- 12~
- L Sigma 0.2964 + 0.0199
-100— F
- T
-200{— sl
- 06l
-300[— | | ! | -
: N s 04
N N 0.2-_
0Tt B : L J \
-0.2E------ [ ' """""""""""""""" " """"""" ol b b | o b b

&JO

6 4 2 0 2 4 6 8



RMS (ppm)

asym_bcm_target RMS (ppm)

134

133.5

133

132.5

132

131.5

131

130.5

26

27

29




1400

1200

1000

800

600

400

200

-200

-400

-600

asym_us_avg (ppb)

X2 / ndf
p0

5.015/3
439.5+174.4

1D pull distribution

Mean -0.02846 + 0.5597
3 —
- Std Dev 1.119 + 0.3958
o Underflow 0
25 Overflow 0
r X2 / ndf 3.126e-13/0
) I Constant ~ 2.998 + 23.712
: Mean 0£08
| Sigma 1.482 £ 12.371
1.5
1+
0.5
OIIIII L L [ o
-8 -6 -4 2 0 2 4 6 8




RMS (ppm)

360

340

320

300

280

260

240

220

asym_us_avg RMS (ppm)

26

27

29




asym_usr (ppb) 1D pull distribution
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lagr_asym_us_avg (ppb) 1D pull distribution
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lagr_asym_usr (ppb) 1D pull distribution
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lagr_asym_usl (ppb 1D pull distribution
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